READ INSTRUCTIONS GIVEN ON THIS PAGE BEFORE FILLING UP DETAILS OR ATTEMPTING

D ANSWER THE QUESTIONS

Booklet 8r, No. PSCSCCE - 2015 Roll No i I IF— I
2 Syide - PAPER - 2 :
2k e (CSAT) Registration No.
OMH Rasponse Sheot No.
Name - 2 [ Guestion Booklet

Fother's Mame :
B B M M - 5%

Y Set
. Date of Bisth : | Taki ] I ! il
Cutegery Code® i* As given in the Admit Casd? L A

Candidate's Signature Total Questions - B0
Please signi n the box) Tinde Allowed © 300 Hours)

. The camdidate shall NOT vpen thin bookdet 11l the tme wdd w d6 s by the T r‘kﬂi!au:-ef In i e, e cundigaty

iy e the meuctions coreflly ahd subsegquenly Bl the appropriate g Riven sbovy i CAPITAL jettwers, The
amlidynn puy alse U] rehkevant ol | Orhes than the’ oolumna Tor markify, sRpness 1o the goestloie) of fhe (AR Reapomie
MHTHHM#!F . 2h

2 Usepnly BLUE OR RLACK ball poms pen s 110 tbe relevant o i page Vs sumilir pam For marking sevpomes o
(4H Hospocss Shect. L of St pen may Jewer seuslges, whih moy make ibe iformulbion given Wyt condisdain
iltegelte, .

3. The catdidate shafl be labie for g gy erss el Fec if e |n|‘.w givem By the candilate here oF on iks MR Response Sheet
i illegphte

4, The candbdate mamt fill ol Mm@ plimn g abovean (i gt and sign sl te spproprste place.

$  The casubidate s requered i dtnmpt B0 ipeition g hanfY, pcepd fiw viooallvorthopaedically mpaired cundidates, whe

woulid be g 40 enges extig R markng then ros) s o Use OV Heaponse Sbect.

fi, THE CANDNDATEMUST FENSURE THAT RAST FIVE DTS OF SERIAL MO, OF THE DME RISIONSE SHEET
SUPPLIED 0 TTIMHER MATCH THE LASRFIVE DIGTTS OF HISTIER ROLL NUMBER and accordingly fill the sume in
the sppraprise cohons of s guestion podides Fimilarty the candidaly MUST write the Secial No. ol this Quesiios Rookdel
aud the Net of the Question Moukly #1 Medrprovcate colwmn ob the OMR Kesporss Shest, Farlans 3o dis 5o may resadt i
Fejossion of (e candidutare of the cendSgimees pin-c ol ustion of the OMB Rosponie Sheet or holli

7 The eandidile sholild davien tieg Bgpriymiats response o the guestion by compliesly derkening the sppropriom cische gval
securbing tohie e choice of rgganae ™ © 4, b, o of J w the marmer shown in the eusmple below

N° L RE s
N\ = o
- t. ?ﬁﬂﬂl:uw.muu:uuumpmdﬂutum;m«nnwhﬂnmhur.i:lr.u:ﬂ.nr-:m-mlimtnmhm

cvalnmion W15 i ihe (1M scammer et only teterpred e anawery by moadling the darkened responses in the sumner
-,{!_l:]"'l#iiil!lm ik‘r-: g paragraph. Clarkening move than oo clelefoml s respome 10 yoestion shall el b conmidered s

hanikist has 2N THE QUESTH®S ARE PRENTED s ENGLISH AND PUNIARL QUESTIONS IN

PRANELATION OF THE ENOLISH OUESTIONS. IN CASE OF ANY AMRIGUTTY 1N TRANSLATION,

THE SO WON WILL AE DEEMED AUTHENTIC AMD FINAL

| L THELCAND A WHEN ALLOWED TOOPEN THE QUESTION PAFER BOORLET MUST CHECK THE BOGELET
JF13 AT THE BOORLET HAS COMPLETE MUMBLR OF PAGES, THE PAGES ARE MUSTED CORRECTLY

5 ATE SHOULD IMMEDIATELY BRING THIS FACT TO THE NOTICE OF THE INVIOMLATION STAFF
AN PN T ASN A RUOKLET OF THE SAME SET A5 (IVEN EARLIER
21 The werial numbesr of the besklet slould be onlered im the relevim scdimnn of the OMR sheet Wherever applicauis, the
Hidwte shinibd request o Invigilatdon BT o shesticote ibe change in the serial penbe of question bookiet by making
Fcgerociim m the approprisie column el Snodence Sheet, where the Sml¥ ahall enivr dew carto sevial mamber of te yueith m
F bt bt mend it bt e
I Al guisions carry 2yuel marks Lo, o afd o Ralf marks for sach quesnon
12, There ik ma negathve inatking
13, THERE ARE FOUR DPTIONS FOR EACH QUESTION AND THE CANDIDATE HAS TO MARK THE MOST
APPROPRIATE ANSWER DN THE DML REEPOSSE SHEET
16, THE RIOHT TO EXCLUDE ANY QUESTHIME) FROM FIMAL EVALUATIN RESTS WITH THE COMMISSION,

SCS-2 {A-1)




Directions (Questions no. 1 to 6) : Read
1 1o idegh warfut e anse
the questions given below it.

There is absolutely no point in
complaining that over the years, there has
been pressure for increased productivity and
higher earnings for workers in industry.
There are several ways for Increasing
employees” earnings. Employee enrnings can
be increased by raising the selling price of
the firm's products and services, reducing
profits or costs of raw materials, or
augmenting labour productivity, However,

other than incressed lnbour productivity

jeopurdizes the firm's competitive ;m;nﬁj

in the market. Higher prices usually mean
fewer customers, reduced profit means less
capital investment, and low<eost materials
mean poor product quality. Bub, incredsi

labour productivity by cnhancing skills,ahd
motivation crestes an almosi @t’m
resource. The development \ﬁ_". nomic
resources, human as well aag’r%; human, is

the product of human uffﬂq;\“ﬁﬁd the quality
aman.gTort ing part depends on

: -' ’/Hrﬂrumiuﬂnn decreases. According
to expectancy theorists, the motivation to
SCS-2

{8 -

performance is an instrument for obtaining
desired rewards. Nevertheless, fn many
organisations today, employees are entitled
to organisational rewards just by being
employed. Unions, ‘governmental
regulations; and the nature of the job itself
in some cases prevent management from
relating financial rewards to performance.
People may be attracted to join and remain
in organisations to receive organisational
rewards, but being
hml”ﬂﬂhiu N same a5 being
- mot vate. to exert #ffrt in an organisation,
‘The challengetp mansgement is to find and
nﬂmjnum\%e ustive forms of incentives
WME ) Sqduce employees o improve
W rmance. Sach alternative forms of
inforcement  will  require increased
ding of motivational theories and

I TRIINES. A

ivated to join an

L. Which of the following statements is
true in the context of the passage 7
(a) Development of  economic
resources is primarily the product
of markit coaisios

Earnings can be incressed by
lowering the selling price of
products.
Employees can be best motivated
by providing financial incentives.
None of these

(h)

el

(d)

2]

T



Organisations can derive maximum

advantages by

ia)

ib)

tel

id)

[al

(b}

di

SCS-2

providing financial incentives to
employess regardless of
performance.

enhancing labour productivity by
inereasing skills and motivation,
encouraging emplovees to expend
greater physical energy.

inducing employees to improve

work performance and control
their demands.

According to the passage, all of the
following contribute to an increase in

employee earnings, except

incressing the selling price of the

Choose the word which is most similar
in meaning as the word ‘induce’ as
used in the passage.

(a) Appreciate
ib) Stimulate
fed  Exhibit
id) Inflate

Which of the following statement(s)
is/are mol true in the context of the

company's products L')>
providing incentives and TKB?‘ “" (a) Bothland?2
ht-nuﬁmwg\a

(b) Only3
" ""éh'“* > 2 (€) Both 1and3

;E'Bl--t result of team-work.
of performance as & tool for

relate  rewnrds to material
Pprosperity.

Directions : Read the following passage
and answer the questions no, 7 to 12 given
Below.

Today, the educational walue of
appealing to the eye as well as to the ear
has been fully recognized, and the lack of
suitable materinls which has in the past
been a handicap to visual education is being
made good. The exhibition is one important
medium for wisual education that has

(A~

guined greatly in popularity in recent years.
3




Exhibitions may range in subject from the
purely practical — as those sponsored by
some nuthorities for health and handicraft
demonstrations — to collections of artistic
and historical interest like those circulated
by the Victorin and Albert Museum. A
natural focus for this particular form of
education through the eve is the loeal
museum. Muséums and galleries are,
indeed, playing sn increasingly important
part in the educational life of their localities;
and possibly their greatest contribution can
be made in the field of adult education. If
they are valuable as a base for the display of

material supplied from outside sources, they .
have a more important function in fostering | N
local distinctions and traditions of all kinds. I '

This they can do by their permanent
collections, by specinl exhibitions shown on
their own premises, or by travelling
locality — for example;ito tolleges of fu
education or to community c&nr{!'a,“f An
outstanding value of the exhi

is that it does not provide
but h}r l:hedjs Ay n!'wm,;

f craftsmanship
irtves « trtﬁ‘rw’ﬁl uppm:munn 8

nr portant medium for
fion @9 Lthe cine-film, and at the
supply of specinlly
~gfional films is being rapidly

exhibitions circulnted to ol eenitrios in :E\i\

activities and skills of all kinds, and to the
cemmunication of cultural idess and values.
But it has a further distinctive mnlhuum
of particular importance in '_
Owing to the exceptionally “”ﬂm
impact of the cinema, films desling with
controversinl topics — m,'it\,}.ﬁlfumh. the
whole range of modern social questions —
can be relied upon Lo provoke discussion and
arouse interest in ewrent problems. There
are a number of sources for educational
films. lu nﬂdﬂinn to the well-known

tion should also be made of the
humbler filmstrip, which consists of a series
of pictures printed on lengths of cine-film
and projected like mininture lantern slides.
Being cheap and easily handled, they are an
jdeal means for (llustrating informal
demonstrations and lectures. These are

plready obtainable for a wide range of
‘subjects from several commercial producers,
and are likely to be supplied in inereasing
number from public sources. For those who
still prefer the ordinary lantern slide, the
is that of the Victoria and Albert Museum.



Why is the adjective ‘humble’ applied

to the fitmstrip ?

(a) Because it is obtainable for a
wide range of subjects.

(b) Bocause it is likely to be supplied
mwﬂhm

(] Because it is cheap and easily
handled.

id) None of these

7.

Give the mesning of the phrase
‘natural focus’ in the passage.

{a} Incomvenient centre
(b} Convenient centre
{¢) Last centre
(d) None of these

Name the kind of education the writer |
mentions in the first parageaph. N

(W) Visual education |
(o) Mﬂiﬂ.@&\éﬂﬂﬂ \E_'Q)\g\’
(¢) ‘Maral Q‘

&

1. An mvﬂudmﬁ'm

method is that it givesa/an ______ -
Fill in the blank with the suitable
1) Duelight

{b) Instruction

(¢) Training in appreciation

(d} None of these

Which of the following mediums has

12,
gained greatly in popularity in recent
years 7'
(0} Cine-film (7

d)

Di ' qmﬂmmﬂhlﬂl
Find but the appropriate meaning of the
%muurdfmthmmmﬂ'
f Ventosity
(a) Humility
(b} Perseverance
i¢) Pride
(d) Disquiet
14. Ingenuous
ta) Candid
(b} Clever
e} Brave
(d) Innovative
15. Insipid




Directions : Read the following passuge | for money at the best of times, all States
and anstwer guestions from 16 to 18 have put the brakes m%m The
The seventh anniversay of the Mumbai : o
attacks is an apt occasion to evaluate the allocation to the States to. 'HHEJ{.“THE
efficacy of the Crime and Criminal Tracking | 8908 Hundreds of unpaid IT veadors arc
and Networks and Systems (CCTNS), It was | TiPE their involvement in the GCTNS, The
among the multitude of bipartisan mﬁw““"{',“ v o
initiatives kick-started after the shock sbolition "ol b
waves of the mm“mmmm shbad. Commission. The Centre i1 be forced to
The intention wns not just to track down o m_ul:n more such hm several
‘criminal moving from one place to another, | ¥it8l Central schemes going.
;ﬂﬂﬂwgﬁnﬁm the comman man's | 16, TThe words “Theproject went on lfe
polieing. The CCTNS aims to automate the it A ol ek
country’s 14,000 palice stations and link (W _dhere Wns o positive change in

‘them electronically to courts and jails. Tn the implementation of the project |
other words, the system will save several ih} the imple lﬂu"—‘“ of the project

hours of waiting and pleading at police | was adveryelw affected. ’
stations, besides several thousands of 5 o \\m increased  fund g
rupees as slush money to keep the files iar the project. |

moving. iy jet-t Wis serapped. |
The main eatch in its mntmuednfw 11. é rd

i

was financing. The States pushed it | s mpnay 189 _F i

till the Centre kept pouring in muney | ]

success depended on foult-free and smooth- %Al funds required for infrastructure |

running computer hardware and softw required to keep & track of files. ';

mwﬂdtnﬂe&adnjﬂnrdm i I Smenditare on  databiases for %

or replacements and main A hting fHles 4 icatly

Though the Centre gave funds tp il I tlos miscivaleny: f

-Bl-!l.tﬂ. prw p.l.t.:h}" taks, {e) bribe |

”'“ (d) funds required for introducing :

= i -,;* # the best lwrirunn:-ai.upulininn n

(A “data bese of

uighled any scope for | 18 ‘Which, according to the passage is the ™

ough Initiatives such ‘must important factor in the success of .-

every FIR cycle CCTNS ? =

(8)' A liberal dose of slush money fg

{e) Adoption of Citizen's Charter by :

all States 3

- (d) A bipartisan approach towards ]
mmﬁnund:hﬂuafﬂanﬁnlﬂﬁ-ﬂh‘lﬁwd ‘the project

SCSs-2 A -6)
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mmwmﬁmﬂ'n
given word.

Deluge

(a) Epidemic
(b} Disease

(el Starvation
id) Drought

| 3% Inherit Q}\{

1] Wﬁ

Nel

. ﬁl: Bequeath
wa _Q 0N

by Uz T oEdtwmE A § 0
(a) faao o263
(b) WHZ §T STa"
© TIv g e
@ fraeg a5

gt s 2 o 98 ¥ wft nEw
#3e

(a) &F dd=

(b) wied ¥ wdt T2

@ Bg=E J=

(d) fewnme &faw aeat
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Directions : (Questians no. 40 to 42) fradw: F J
o i HE A (yFw 40 ﬂ)#mﬁ'
diagram given below : ST 51

R

8 12 8] 18 4

Rectangle represents males,
Triangle represents educated.
Cirele ropresents urban. L
4 Bqummmmﬂvilmvunm»
40. How many are educated males wh

£ 1 =

are not urban residents ?
(n) 4
th) §
e} 8 s N
(d) 11 @ la} 4
b) &5 F—
41. How many are neither eivil ag&h el 9
nor educated 'ht are u.rhnu. L and nok (d) 11
males? 0 |41 % wfodt o5 & fres Bem =
{n) 2 @ ﬂﬁ.l{a’m&ﬁﬁmﬂ
ABYTR ?\ J5 1 L.
fnl 2
;‘ “" i I.I:I] 3
V4 || g} B
many” are females, urban (d) 10
; 42 fidnd lggt oz, Hﬁiﬂ‘ TE w3
fres Afea=r o5 7
{a} &
by 7
led 10
d) 13

(& -12)




43. A man takes 5 hours 45 minutes in
walking to & certain place and riding
back. He would have gained twe hours

by riding both ways. The time he
would take to walk both ways is

{a) 11 hours

(b} 8 hours 45 minutes
el 7 hours 45 minutes.
id) 9 hours 20 minutes

A man's nge &8 125% of what it was
10 yeass uga but SH—g;-l‘!i.tl'r!‘-whnt it
be after 10 years. What is hiz present
nge in years ?
70
B0

{a}
bl

48, fex wreft § fog WAy § ot sEp
fes 5 W2 45 Tz B9 73 | 7
o % v 42 3 & peet 79
Gewse Sl 76 &
wh es wie & 5 Ong s mi
g ¢
() 11002
(b) . 8WE 45 fime

ey T'ﬂﬁ'ﬁ@
(d) nuﬁ@, ‘

4. fe= & dge GWw
ufost & Gwa &
=10 S e

en
125% 3

fea »reft & Uvw 9299 8 kmph
4 w3 ¥ %0 wEEs 3 Fedt aEe
T 3 87 F 5239 16 kmph T |
87 &we 9w & fa 80 sokm
gt 8 wWe v v Fgar | 96
fas" weg U 95 u&ar ¢

(a) 20km

(b) 30 km

fe} 48 km

(d) 60 km

(A-13)
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48. A and B have, between them, ¥ 1,200,
A spends 12% of his money while B
spends 20% of his money. They are
then loft with a sum that constitutes
B5% of the original sum. Find what
amount is left with A.

(a) * 750
by ¥ 800
(el =700

{d) = 660

Ajit can do as much work in 2 days as
Baljit can do in 3 days and Baljit can
do as much work in 4 days as Diljit
can do in 5 days. A piece of work takes
20 duys if all work together. How long
would Baljit take to do all the work by

himself ?
(n) 82 days )
(b) 44 days
(e} 66 du
= : \(‘\0}
(d) 50 days %

{\'

48. Out of all 2-digit | between
1 and 200, a 2-digit ‘ has to be
selected at rand What is the
probability lected number is
not divisiblehy7 ?

SCS-2 A -

46. A W3 B HE §5 1,200 FVE TS | A
WS 19% JUR yaY T 9 w2 B
20% | 7= Goa ¥ &8 fuzr A 78
TaH T Je8 a5 Sfg Ate Y 9
A5 68 que sRTs 2
a) ?EIJETF:“.!’

(b) 800 FUD

(e) ToO FUE
(d) 680 FUE

Fie" & wiifls 2 foat ‘s meer B,
E‘Fﬁﬂ‘a’ 3 fest v amer 3| His

fest ‘s 3,
qawﬁ?ﬂ

47.

1mazﬂuémwm

48,

14




49. At the end of & business conference, all
the ten people present shake hands
with each other once. How many
handshakes will there be altogether 7

[a} 20

k) 45
ig) 55
idl 90

Three years ago, the avernge age of A,
B and C was 27 years and that of B
and C, 5 years ago, was 20 years. A's
present age is
{a) 30 years

(b) 37 years

49, Tem suaw Teeew € o7 faw OR
& e fvede 05 ) 98 e F
fast ¥ J9 fhed wEd 2
fa)
(b

g}
id)

ER&E8

50. 3 7 yfest A, B w3 ¢ & WiRz

€Hg 27 B ‘?ﬁmuﬁm*n
w2 ¢ & T eE 20 FE A | A

#tae

el 40 A™S

\Q)rdr 48 78

51. feg fage vadt faw o9 @ winrst
few feg Far v, W@ fis
winrst few fea Far o5 w3 o9
T9 Wiows' faw feg v e &
wafenr @2 T | 7 @8 fuma
65 B9 =8I ¥ 74 I Ut few
s wiows »re 75 7

80

B85
80

fal
(b
e}

(A~

(d)
15)

foxt fed a¢ ot



(d) 4207

() 1707 4
(€) 4027 %
e

Beem : (yFm a2 3 54) 37 B yms

questions find the next number in | fog =t o warsT ofs S5
O e, . s 558 . 5 B2. 165, 185, 256, 285, 345.7
- J (a) 375 7 4
) aT8
{:J (b} 390
Chiy a0 (e) 420
(d) 435
7. 26, 68, 124. 215, 342, 7
7. 26, 63, 124, 215, 342, 7 fa) 391
(a) @91 o (b 42 p
() 421 Ve 481 (7 il
(e) 481 N o A HQ;,{ i e
2\ W
idy 511 A N 1?,‘% L4277 1l g—
2,7, 27, 107, 427,92 s ‘ R
, (K 1707 roagin Y
{e) 1262 N {© 4027 %
idy 4207 w




57. If ROAST is coded as PQYUR in a | 57. ¥ fai o7 f&¥ ROAST 3 PQYUR
certain language, then how will fofimr wer & 3 8y s fam

SLOPPY be coded in that language ? SLOPPY # ot ffinr s 2

fa) MRNAQN la) MRNAGN

() NREMNQA ibi NEMNQA

() QNMRNA :;ﬁ qmmmw m"f’* |

o 8. & faF ww fes HEALTH §
58. If HEALTH is written as GSKZDG, GsKzpG Teftmr wor & 7 Gm

then how will NORTH be written in s fes. NORTH St fefime

that code ? ELcadl

ta) OPSUI (n} DPSUI

ib) GSQNM

() FRPML

d) IUSPO

58, ﬁmnwn:-ﬂhlbw is asked by
another woman about the relationship

% them. The qqﬂiu repliod, /<
“My maternal uncle and the uncle of

’**! |T|mhw:$.ﬁ; “@\} o i w4 g i
L2 (a) T w3 Ugar
() Mother and Son (@ W w2 T

and N'P% () fed vt = |
%m- of th w

@0, ﬁmmh,f uLHnnu'ulﬁ“in M#ﬂﬁmiﬁ"ﬂ“?@




Form there he walks & km towards
South. Then he walkz 3 km towards
is he with reference to his starting
point ?

() Bkm West

(b) 7 km West

(e} 7lkm East

id) 5 km North-east

62. In  class of 46 students, 18 play
football, 17 play ericket including 6

who play football. 16 students play |

hockey including 4 who play ericket
but not football 5 students play
carrom but no outdoor game. Which of

facts 7

) (go Q)\Xy

o

thaﬁullwhgﬁxurﬁwmg /

I°7

3




83. Some of the cricket players are tennis
players, some tennis players are
hockey players, no ericket player is &
hockey player. Which of the following
dingrams correctly represents the
above statement 7

- ®

O




IF *+' means ‘divided by', *~" mesns
‘added to’, <’ means ‘subtracted from’
and '+ means ‘multiplied by', then
what is the value of 24+ 12 = 184+ 97
— 25

072

1530

280

a)
(b}

el
(d)

A group consisting of 25 teachers,
20 engineers, 18 doctors and
12 aaléeemen visited a fair and spent
7 1,330 altogether. 1t was found that
& teachers spent ns much &5
4 engineers, 12 engineers spent as
much as 9 doctors and 6 doctors spent

as much as 8 salesmen. If every person |

in o professional group spent the same
amount, find the amount speut by
eath engineer.
(ny *® 14
<

by ® 17-50
(el * 1B
@ =21 , Q)

67. From a number of appl man sells
half the number of ing apples

1
' , BollE —rd

,,,Vt th-E i DINAT, BE .
< gftheremginidg apples plus 1 to the
gamer and %m of the

ng apples plus 1 to the third
/He then finds that he has
How many apples did he

65. ¥ w ¥ HEES ¥ ‘T, o &
weme 3 g, v = owEed

Ja |

o)
%
e
&=
7
Ll
w2

v

ey
R

!
N
3

(A=

201




68. A man wears socks of 2 colours -
black and brown He has altogether
20 black socks and 20 brown socks in a
drawer. Supposing he has to take out
the socks in the dark, how many must
he take out to be sure that he has a
matching pair 7
(a) 3
(b} 20
() 39
id)  None of these

Abirﬂuhnmmu'lﬁu&hn-mmr
birds he had in his bag. He replied
that there were all sparrows but &, all
pigeons but 8, and all ‘ducks but 6,
How many birds did ke have in the
bagin all ?
) 9
(b} 18
(e) 27

a6

&
y

id)

“Qssumptions
YIIRG Lhe stalement
&4 Ber the codes given

Dy ;hmmmﬂlm.

= farwr & | wEm 3 feww 390 OF O
18 37 wEET srveEr gew 3
(a) I8 UHE | Hafgs &
(b) WS TFE [0 Hafsg F
@ 1 »d W "§ ot & s
Hafgg &4 &
d 1 »3F n ¥F gga=t
95 | :

hl_-_._ﬁ_hJ




70. Statement :

'ﬁeﬂuvummthudﬂ:iﬂedlnply
compensation to the tune of * one
lakh to the family members of those

who are killed in railway accidents.

Assumptions -

L. The Goverment has enough funds
o meet the expenses due to
compensation.

Il. There may be reduction in
incidents of railway sceidents in
the near future.

71. Statement ;

Never before was such o lucid book

available on the topic.

Assumptions :

L. Bome other books were available
on this topic. N

I You can write lucid bocks on very

L ]
Directions : (Question no. 72 and ?3&?
each of the following questi Lo

lﬂﬂtﬂﬂh‘ﬂﬁ M‘ I'.’-d..' tlﬁ'l '-v'w‘
cause or independent o Read both the
el (n eoch Mon and mark your

71

(d) & 1 W 11 foff au= 2
B4 T5 |




(¢) B2 triangles, 10 squares
(d) 94 trinngies, 18 squares




.t:] 44 trinngles, 10 squares

(b) 14 trinngles, 16 squares

() 27 triangles, 6 squares

|d) 36 triangles, 8 squants
Directions : The following table gives the ; % - : _
sale of batteries manufactured by a company o & i Fetor Gadior
nurthymmsmdrmrm&hnﬁnﬂuﬁ :

nmrnﬂﬂtqmuﬁnmbaudnuﬂ. Tz 7 ¢
| &5
“LON
| Eodr @ yme (Iee )

Typtnfhattﬂ?ﬂnthumm@!}
!
Year | Ay AH|IAH A a0

"4 | 7 |32 ]85 |58

1992 | 75 | 144 | 1144202
1993 | 90 | 126 | 108 | B4
1904 | 96| 114 | 7B | 105

T

| ﬂ

EL)
Tiooz | 76 | 144 | 114 | 102 | 108 | 543
1908 | 90 | 126 | 102 | 84 | 126 | 628
1904 | 86 | 114 | 75 | 106 135 | 525
1906 | 105 | 90 | 180 | 90 | T3 510
1996 | 90 | 75 | 185 | 76 | 90 | 460
1097 | 105 | 60 | 165 | 46 | 120 | 495

I'H'Bﬂjllﬁ B8O Ilﬁﬂ 100 | 145 | 605

7. ﬁmhﬂhﬁﬁm-zmmﬁa
fog E 1002 ¥ oo feW =AW
% e o e 2
in) 31%

(b) 38%
{c) 4%
(d) 88%

1885

B8C5-2 (A-24)




& fy Wt & 7 1992 3 1997 I
sy wedt &t ?

(a) 35AH
(k) 4AH
) 32AH
(@) TAH

e, fan Bt & 7 Wt & B A 3
Syl

il 35 AH

by 4AH

¢} TAH

d) 82 AH
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